

同濟大學 教師備課用紙

admissible labeling: $\lambda: SL(2, \mathbb{Z}) \rightarrow \mathbb{Z}[X, Y]_n$
of degree n $\lambda(GX) = G \cdot \lambda(X)$

s.t. $\lambda(X) + \lambda(XS) = 0$
 $\lambda(X) + \lambda(\lambda n) + \lambda(\lambda n^2) = 0$

$X_n(\Gamma) = \mathbb{Z}$ -module of admissible labelings of degree $n-2$. (Relate labeling $\lambda \in X_n(\Gamma)$ $\mapsto (A, \lambda(A))$ (s.t. $A \in \Gamma$)

N.B. $X_2(\Gamma)$ can be identified with $X_2(\Gamma)$ in obvious manner.

Example $\mathbb{Q}SL(2, \mathbb{Z})$

$X_2(SL(2, \mathbb{Z})) : \lambda: SL(2, \mathbb{Z}) \rightarrow \mathbb{Z}$ (i.e. λ const.)

$(\lambda+1)\lambda = 2\lambda = 0$, i.e. $\lambda = 0$

$X_4(SL(2, \mathbb{Z})) : \lambda: SL(2, \mathbb{Z}) \rightarrow \mathbb{Z}[X, Y]_{n-2}$ $(x, y) \begin{pmatrix} 0 & 1 \\ -1 & 0 \end{pmatrix} = (-y, x)$

$\lambda(X) = X \cdot \lambda(1)$

$\lambda(1) + 5\lambda(1) = 0$

$\lambda(1) + 12\lambda(1) + 7\lambda(1) = 0$

$(x, y) \begin{pmatrix} 1 & 1 \\ 0 & 1 \end{pmatrix} = (x, y)$
 $\begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} = (x, y)$

i.e. $\lambda(1) \Rightarrow f: \mathbb{Z}[X, Y]_{n-2} \rightarrow \mathbb{Z}$
 $f(x, y) + f(-y, x) = 0$

~~$f(x, y) + f(y, y-x) + f(-x+y, -x) = 0$~~

$\cong X_n(SL(2, \mathbb{Z})) \oplus f(x, y) + f(x-y, x)$

Exercises: 1) Determine $\dim X_n(SL(2, \mathbb{Z})) + f(-y, x-y) = 0$

2) Prove $\dim X_n(SL(2, \mathbb{Z})) = 2 \dim S_n(SL(2, \mathbb{Z}))$.
+ λ

Submit before next Thursday.

Remark

$f(x, y) := X^n - Y^n$, in case is always in $X_n(SL(2, \mathbb{Z}))$.

Φ becomes $(X^n - Y^n) + ((x-y)^n + x^n) + ((-y)^n + (x-y)^n) = 0$